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SECTION A - Research methods and evidence

Answer all questions.

Source A: Poverty in the UK survey

‘The rich are getting richer and the poor are getting poorer.’

A social survey in Birmingham last week investigated the wealth and income of people in the
city. Researchers spent one Saturday morning in the city’s shopping centre asking people closed
questions about their wages and savings. Every tenth person who walked past was questioned — a
total of 100 people. The survey had been trialled a month earlier to check for any problems. Findings
from the survey indicated that inequalities in the UK were worse in 2015 than they had been 10 years
previously.

Extract from a newspaper article, 2015

Source B: Poverty interview results

| read a newspaper article that reported on some research into wealth and income in the UK and was
shocked to discover that inequalities were getting worse. | decided to write this internet blog about
people’s experiences of poverty as | couldn’t believe our society was so unequal. Where | live there
are a few homeless people who hang out at the park. | went there and spoke to them individually
and then blogged about it when | got home and had time. | didn’t prepare any questions, | just had
a conversation with them. They told me that the Government didn’t care about them; they’d asked
for accommodation but had been told there wasn’t enough for everybody. One man | spoke to said
he had nearly died because in winter it was so cold. Another lady said she felt scared every night
in case someone attacked or robbed her. A young man, aged about 18 | think, said he’d applied for
thousands of jobs but no one would employ him because he didn’t have an address.

14 year old boy’s internet blog, 2015
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1  Using Source A to help you, state whether the following statements (a—d) are true or false.

Circle the correct answer like this:

FALSE

or
TRUE
(a) A pilot study was used in Source A.

TRUE FALSE [1]
(b) The data gathered from Source A was quantitative.

TRUE FALSE [1]
(c) The sample used in Source A was stratified.

TRUE FALSE [1]
(d) The research in Source A was conducted in the shopping centre.

TRUE FALSE [11

2 Identify and explain two reasons why the research in Source A might not be useful for investigating
the wealth and income of all people in the UK.
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Describe two advantages and two disadvantages of asking closed questions.

Advantages:
1L PP PEERR
2 et et eeeeeeeeeeeeeeeeeeeeeeeeeeaesseeeeteeeeeeasassttsteeeeeeeeaaantteeeeeeetiaaa—————teeeeeeaaanna—eeeeteeeeeaaannraeeaeeeeeaaans
Disadvantages:
1L PP PPTPPPRRRPR
2 ettt eeeeeeeeeeeeeeeeeeeeeeeeeeeaaseteeeeeeeeeeaaastteteeeeeeeeaaaa—teeeeeeeeaaanttteeeeeeeeeaaannaneneeeeeeeeannnnrnneeeeeeeaaans
[4]
(@) (i) Identify the type of interview used in Source B.
...................................................................................................................................... [1]
(ii) Where did the researcher find his sample to interview in Source B?
...................................................................................................................................... [1]
(b) Identify and explain two reasons why the evidence in Source B might not be accurate.
PR
2 ettt eeeeeeeeeeeeeeiieseeeeeeeeeeeeeasseeseeeeeeeaaaasstteeeeeeeeaaaan———teeeaeeeeaaaaateeeeeeeeeaaannrrereeeeeeaaaas
[4]
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‘Women are more likely to live in poverty than men.’

Explain and justify the methods and evidence you would use to investigate this hypothesis.
You must include the following:

+  first primary method and sample

+  second primary method and sample

+  secondary evidence

*  how your research will help you investigate the hypothesis ‘women are more likely to live in
poverty than men’. [12]
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SECTION B - Key Concepts in Sociology

Look at the diagram below.

Answer all questions.

Match the key sociological concept with an arrow to the correct definition. The first one is done for
you. There are more definitions than concepts.

Key Concept

Definition

culture

the whole way of life of a group of people or
society

/'

norms

how people see themselves and how others
see them

primary socialisation

general ideas about what is right and wrong
and what is worth striving for

identity

parents encourage children to behave in a
way seen as appropriate for their gender

manipulation

the unwritten rules of society that determine
acceptable behaviour

©O0CR 2018

children learning the basics during early
childhood

[4]
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Source C: Sanctions

School detention Sweets Losing your job

7 Source C shows four different sanctions.

(a) Identify one positive sanction shown in Source C.

©O0CR 2018



(@)

©O0CR 2018

9
Identify and explain two ways individuals can get their status.

Turn over for question 9
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‘Stereotypical gender identities are created through the family.’

Evaluate the arguments for and against this claim. [12]
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END OF QUESTION PAPER
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